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Physics

» A ray of light is incident at an angle o

incidence 60" from air to liquid. What is the
ratio of width from air o liguid if angle of
refraction i 457

. 3
fa) g (b) Iié
L I2 i
{l.j llfli L[“ "'E
(&) :E

2

The nature of path of an clectron when its
moves in transverse electric field is

(&) circle (b) ellipse
lc) parabola (d) hyperbula
(&) straight line

In photoelectric emission. one photon s
capable of emiting

{a) one electron

(b} two electrons

{¢] more electrons

td) Both (a) and (b)

(e} None of the above

Identify the incorrect relation,

) as b ) Be—"
l-a

(e) p=all «f)
The depletion laver in p-nt junction region is
caused by

(a) drift of electrons
(b} migraton of impurity 1ons

(€) drift of holes
idl diffusion of charge carriers
{e] None of the above

Dimensional fonmula ‘or enrropy 1€ (dentival
to that of

(4] umversal gas constant

(b} specific heat

() Bolmzmann consrant

{d) gravitational porential

(e}l None of the above

If the velocity of projection is increased by
1% (other things remaining constant), the
horizontal range will increase by

{a] 1% (b} 2%
(e} 4% (d) 8%
(e) 10%

A mass m is placed on an inclined plane. |f
the mass is in eqguilibrium, the maximum
inclination of the plane with the horizonual
would be : (where p is the cueflicien: of
fricticn berween the mass and surfnee )

(a) tan *(u) bl t.'!.u']| :
(c) tan '| £ | (d} cos ")
m
(e} tan | =
Mo

Lighr of rwe different frequencies whow
photons have eéncrgies 1eV oamd 2.8 &)
successively lluminate a meal of work
function 0.5 eV, The rauo of the maximum
speeds of the emirted electrons will be
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(a) 1:5

(&) 1.2

(e) 2:1

The half-life
depends upon
(a} temperarure

(b} pressure

(e} narure of element

{d) amount of radicactive element

le) None of the above

The gravitational field in a region is grven by
I = {4+ jiN/kg, The work done by rhis field
15 zero when a particle i moved along the
line

by 1:4
d) 1:1

of a radipacrive element

(@) x-~y=6 (b) x4y =6
() ¥y r4x=6 (d) x-¥=6
l¢) x+ ¥ =8

A satellie with kinetie energy F revolving
round the earth in a circular orbic. The
mimmum additiena! KE required for it w
eaape N outer space is

(a) 2k (b} 2E
(e) Biv2 () £
rE‘] 'E._

Z

Ihe magnimude of the force developed by
taising the temperature from 0°C to 100°C of
the iron bar 10m long and 1em®
cross-section, when it i held so thar it s not
permitted o expand or bend is
(u=10"/"C, ¥ =10"" N/m*)

(a] 107N (b 10* N
€) 10" N (d) 10" N
(e) 10° N

The alpha and beta particles cause ionisation
boecause of

(a) photoelectric emission

(b) compron collision

(e} pair production

(d} the electrosttie foree

(&) None of the dbove

Which one of the following is the weakest
kind of bonding in solids?

{(a) lonic (b} Metallic

(¢} van der Waal's {d) Cowalent

(e} None of these
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A wave uavelling along a stretched string is

represented by v = 3cosa(l00r - x).  hs
wavelength s

L&} 3 em (b) 100 em

(el 2em (d) 5em

(e) Bem

A dise ol mass 10 g is kepr honzontally in air
by firing bullets of mass 5 g each at the rate
of 10 per second. if the bullets rebound with
the same speed, whar s the velocity with
which the bullews ave fired?

(a) 49 cou/s (b} 98 cm/s

(e} 147 emis (d) 196 cm/s

{e) 208 cmss

Frequency of the series limit of Balmer series
of hydrogen arom in rerm of Rydbery

constant K and velocity of light ¢ is
4

() (b} ke
Re
el Re () Re
4
(&) i
2
The inductive reactunce X, of induction coil

is
(a) always constant in AC circuit

b1 directly proportonal (o frequency of AC
(e} inversely proportionsl to frequency of AC
(d) directly proportional to time period

(e) Nene of the above

A 100 mH coil carties 1 A current. Energy
stored in its magnetic field s

{a) 0123 {b) D.05J

(c) 0.5 {dy 1.

(2] None of these

Liquids and gases never show

[#) dimmagnetic praperties

{b) paramagnetic properties

(c) ferromagneric properties

(d) Boch (a) and (b)

(e} None of the above

The deflection of tangent galvanomeier i

governed

(a) by a horse shoe magnet

(b) b current tn a circiilar ooil

(¢} by current in & reciangular ¢oll placed
between the pole pieces of a magner
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(d) by pole pieces of unexternal bar magnes
(&) None of the above

ymall magnets each of magmn
\0Am® are placed n oend o
position 0.1 m apart bom ther centres. Tha
force acning berween them i

fa) 0.6+ 10° N h) 006+ 10N
(e) LN id) 006 N

(el 00810 "N

ITirne

A call of cross-secuonal aren 400 em* having
30 wms 3 making 18 wvmin n &
magnenc field of 1 T. The peak valye of the
induced emf is

fal a4V (k) 0.6V
(c) 226V (d) 226V
(&) 226V

For a thermogouple, the remperatuie of cpld
Junctwon (T ), the peuwral temperawre (7))
and the temperature of inversion () are
0°C, 285'C. 370°C respeectively, 11 the
temperature af cold juncton (7 ) 8 raised 10
LU°C, then

{a} T, =275Cand T =57U'C

(bl T, =275*Cand T, =560 C

ch T, =285 Cand T, = 560°C

id) T.=295°Cand T, =580"C

ie) T, =560¢Cand T, =285"C

The wires 4 and B are o! same matensl and
same length but their radil are in the saty
1 - 2, They are siretched by the same force
Siridn produced i nwo wires s

fa) 2:1 {h)1:2
(e} 1:4 (dl 41
(&) 1:8

Heat & transmined trom nigher 10 lower
temperature due to the molecular collision in
{a) conduction

() radiation

(¢] convection

(d} comvection and radiation

(e} Mone of the above

A wire of length 10 em is ploced honzontal
on the surface ol warer and b gently pulled
up with 8 force of 1.8« 1077 N w keep the
wire 10 gquilibrivm. The supface tension ol
water will be
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{a) Y8 him
tc) 059 m

Mune of thes:

(o 008 N/m
(<) 59 Nom
el

A sulid sphvre rolls down without alippiag

mom rest on oo 30" ncline. Tt e
Acceleration 1&
7 [«
iy 2 1d) 4
3
(e} =
17

The tme period of simple pendulum in o
sarellite is

fa) 4¢

(b1 zero

ic) cannod be chlcioloned

id) infigmite

1
ig) =%

2
An eimcteic bulb s power rating of oUW
220 V. [Tl is conneeted to o source ol mis
volige 110DV, the power tonsumed i

(n) 125 W thy 15 W
{c) 30W (d) &OW
{c] 30w

In an AC chroui. £ 22080 0080 IF the
impedance i 1106} and prase angle & = 60
the puwer CORSUmpDonN i

ia) 440w () 220w
(c) Liuw id) 55W
(e} 1000'W

The Lyman series of hydrogen lies i the
regiun

(@) micruwae

ih) infrored

(el visible

(d] uluraviolet

fe) MNuse of the abose

A radivaciive element disinregrates 2 b anad
its 17/ 16th part remain undivintegrated. Haoll
life af the element will be

b D50 thilh
v] §h dl ='h
(e} 21
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Ozone layer blocks the radianon af
wavelength

(a) more than 3= 107 m

(b) less than 3= 107" m

(c) equal to 3107 m

(d) equal to 107" m

(e} more than 10" m

The resistance of discharge wbe is
{a}) non-chmic [b) zero
(¢} ohmic {d) ane
(¢) Mane of thage

A bulb has specifications of 1 kW and 250V,
the resistance of bulb is

{a) 625101 (b) 0.250
(¢l 6.250 (d) 62.50
(e} 2.5Q

The internal energy of the working
substance 1n any cyclic process

(a) Increases (b) decreases

(¢) remain constant  (d) becomes zero

{e) None of these

Our of the following electromagnetic
racdiations which has the shorgest
wavelength?

{a) Radlowaves (b) Infrared

{¢) Ultraviolet (d) Visible light

(e) X-rays

The modulus of elasticity is dimensionally
equivalent to

(a) strain

(b) force

(¢} stress

() coetficient of viscosity

(e) Work

A tiger chases a deer 30 m ghead of it and
gans 3 m in 5 s after the chase began. The
distance gained by the tiger in 105 is

fa) 6m (b) 12 m
{¢) 18 m (d} 20m
(e) 16m

The speed of projection of a projectile Is
increased by 10% without changing the
anyle of projection. The percentage increase
in the range will be

(a) 0% (bl 20%
(¢} 15% (d)} 5%
(&) 25%

43, A sphere s suspended by a thread af
length /. The minimum horizontal veloaty
which has 1o be imparted 1o the sphere for it
to reach the height of suspension is

{a) 2R (b) 2g!
{c) 2! (dy al
(e) ypt/2

44, A vehicle of mass 120 kg is moving with a
uniform velocity of 108 km/h. The force
required to step the vehicle in 10 s is

{(a) 9O N (b) 180N
(c) 360N (d) 720 M
(e} 810N

45. The change in potential energy when a body
of mass m is raised to 5 heaght nK from the
centre of earth (R = radius of earth)

@ mgr B () amgr
n
- [

(e) ng[—-i"—' {d) mgR Wi |
nt+1 n+1
(e) mgR

46. A particle of mass 1 kg is moving n SHM
with an amplitude 0.02 m and » frequency ol
60 Hz. The maximum force n newion acting
on the particle is
(a) 188" (b) 1447°
(<) 28817 (d) 12+*
(2) None of these

47. The equarion of a spherical progressive wave is
(a) y =asinwt
(b} y =asin(ar - kr)

a .

(€) ¥ = ‘;?; sinlog = kr)

(d) y = fr" sinfror - kr)

(e) Nome of the above

48. The moment of Inerfia of & rod (length [,
mass ) about an axis perpendicular to the
length of the rod and passing through a
point equidistant from its mid-point and one
end, is

2 .

(a) [:iz ({+] lq.l-ailrlnl‘t
13 .5 19 .

(e) EMI (d) Iﬁ-m!

(e) 18 2
43
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AL constant volume

increased. then

{a) collision on walls will be less

(b) number of collisions per upit ume will
IMcreass

e} collisions will be in siraight lines

(d) eollisions will not change

) Mone of the above

A maln drop of radius 0.3 mm has o

termintal velocity 1 m/s in the air The

viztnsity of air js 18- 107" P. The viscous

force on it is

{a) 101.73x 107" dvne

{b) 101.73x 10 * dyne

fe) 16.95x 10 " dvne

(d} 16.95x= 107 dyne

fe) 1.6+ 107~ dyne

temperaire s

Magnetic field intensny due o a dipole

varies as d"; d = distance of observation point

from dipole, where n is equal za

(a) 2 (b) -2

fel 3 {d) -3

(&) MNane of these

If the photon of energy 12| V' js incident on

hydrogen gas, the gas will emit per second

{2} few lUnes In Balmer and Lymen seres

(b) all the lines in Balmer series

(c) few lines in Balmer senus

{d} Balmer series only

(e} None of the above

A Body 5 moving In circular mowon of

constant radius, then

{a) the net accelerarion of the body may be
towards the centre of the circle

{b] the net acceleration of the body may nm
B rerwinrets the éentre of the circle

(2] the velniy, of the body must change

(d} All of the ahi ¢

(e} None of the ubove

For a constant hydraulic stress on an

object, the fracrional change in the objecr's

volume EVE and ity bulk modulus (B are

related as

B5.

57.

58,

59.

W FSii

(a) v z B (b) - -._ﬁ

e) 2 = p? ) &Y g
i ¥

(@ 3 s

A person cannot see the object beyond
100 em. The power of a lens o correct his
visian will be

(4) +2D (b) ~1D
(el 43D {d) @50
{2l =aD

The moment of inertia of A body abour a
given axis is 1.2 kg m®. Inidially the body is
ar vest. In order 1o produce a rotational
kinetic energy of 1500 J, an angular
acceleration of 25 rad/s’ must be applied
about that axis lor a duration of

{n) 44 (b) 2x
cl Bs (dy 1Ws
{e] 4%

The foliowing equanon represents induced
transntation
JBeY « jHet — 07 X

In this equarivn. X represents

g wne megatve Sparcicie

(bl a-partcle

(€} @ positran

{d} » neutran

le) ¢particle

Cvelomron s a device which iy used to

(o] measure the charge

(h] measire the voliage

{c) accelerare protons

(d) naccelerate electrons

(e} None of the above

If boiling point of water is 95 F, what will be
the reduction at celsius scole?

(a) 7C {h} BS'C

(¢} 63°C {(d) 35°C

(e) TO'C

The refractive indtces of violer and red light
are 1.54 and 152 respectuvely. If the angle
of prism 1 10°, the angular dispersion

fin degree) is
{n) Q.02

fe) 306

fel 306

[b) 020
) 306
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Chemistry

. ‘Which of the following reacrs fastest with a
mixture of anhvdrous ZnCl. and cone. HC1?
la) Trimethyl carbinol

(h) Ethanol

{e) Propanol

(d} Methanol

(2] Iso'propanal

2. The reagent with which bath acetaldehvde

and acetophenone reacts easily are

(@] Fehling’s solution

(k) Schiff's reagent

(e} Tollen’s reagent

(d) sodium bisulphite

(e} 2, 4-dinitrophenylhydrazine

. The main component of glass which gives
hear resistance wo laboratory glassware s

(a) PhO (b) MgO
(c) ByO, (d) AlD,
(e} PO,

. Thomas slag s referred to as

(n) ealcium silicate

(b} calcium phosphate

() barium phasphate

{d) strontium silicate

(e} barium silicare

. Each B—H—B bndge in B,H, is formed by
the sharing of

(a} 2 electrons (b} 4 elecrrons
(¢} 1 electron (dy 3 electrons
(e} 8 electrons

. The one electron species having ionisation
energy of 54.4 eV is

(a) H (b} He™
{c) B* (d) Li*
(e) Be™

. Density of a crvstal remains unchanged as a
result of

(a) tome defect

(b) Schowrky defect

(e} Frenkel defect

(d) crystal defect

(e} point defect

. The mass of 11.2 L of ammonia gas at STP is
{a) 8.5g (b1 85 g

() 17 g {a) 1.7 ¢

(e) 435 g

9.

1,

1.

12.

13.

Identify the correct statement from below,
concermng the suucture of CH, =C=CH,
{a) The molecule 15 planar
(b) One of the three carbon aoms is in
sp* hvbridized stage
(c) The molecule is non-planar with the two
—CH, groups being in planes
perpendicular 1o each other
(d) All the carbon atoms are sp-hybridized
le) The molecule is bemt  with the
—L—~C—C— angle being 120 degrees
The enthalpy of a wmonoatomic gas at
T Kelvin is
3

7
{a) ERT () ERT
fc) IERT (d) %mvz
5
~RT
(e) 3

The dissociation constant of aceric acid K, 1»
1.74» 107 at 298 K. The pH of a solution of
0.1 M aceric acid is
(a) 2.88
(c] 4.0
(e} 2.0
In the given reaction,
2X(g)+ Y{g)»—22(g)+ BO kenl,

Which combination of pressure and
temperature will give the highest visld of 7
at equilibrium?
(a) 1000 atm and 200°C
(b} 500 atm and 500°C
(c) 1000 atm and 100°C
(d) 500 atmand 100°C
{e) 1000 atm and 500°C

ES z e =034V, E2 3. . ==076V.
A Daniell cell contains 0.1 M iSO, solution
and 0.01 M CuSO, solution at its electrodes.
EMF of the cell is
{a) 1..10V
(b) 104V
{c) 116V
{d) 107V
(¢) 1.00V

(b) 3.6
(d) 1.0

CHRISTIAN MEDICAL
COLLEGE VELLORE
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A radionctive sotope his o half-life of 8 davs
If today 125 mg is lefr over, what was 1
vriginal weight 32 days earlier 7

(a) &g i) 5¢g
(e} 43 wd) _Zg
(el 12

On addinen of 1 mL solution of 10% NaCl 5w
10mL geld solution 1 the presence o
00258 of starch. the coagulsnon o
prevented because saarch has the following
gold numbes

(2) 25 (b) 0,025
i) D.2S (dy 2.5
(e} 0.0025

IVPAT name ol acraldehvile
{a} bur-3-en-1.al

(b} propenyl aidehwd:

ey but-Sene-1-ad

fd) propanal

(e] prop-2-ene-1.al

A molecule of urea cin show
(4} chain isomersm

(b)Y position isumerism

e] geametrical womerin
{d} 1sutomerism

(e1 None of the abpyve

The presence of Ag ion
salubility of alkenes due 10 the formarion af
(a) dedobonding (b} pa-p=bonding
(€l p=dabonding  (d} ps-pa bonding
tel None of these

Glveering contains

[a) 17 carban

(bl 2' carbon

{c] 3*carbon

fd) both'1" and 2° carbon

le} both2' énd 3" carbon

u and fgluccswe: differ in the onentauon af
~0H group around

increases the

(a) C, thy C;
{c] Caq ds r:.
el s

Which une of the fellowng nas the hughest
malnr eomductiviey ¥

(a) Diammunedichlornplannum 711

(b} Tetramminedichiormeobalt (111} chiaride

22.

24

26

. The Markownikotl's

fc) Potassium pexacvanoferrate (1)

() Hexaaguochromium (D bromide

le) Pentacarbanyl won (0}

The first law of (hermodynamic is sxpressed
s

(8} Q - W =aF
(o) @=AF -W
(el None of thesy

(b) AE =@ - pAV
(d) W Q- AF

rule s the bheu

applicable 1o the reaction betwers

{4} TyHy + HO

(b} CH, + Br,

[t) C.H, = HBr

fald tﬂHl '\:l‘

iel EJH, - ‘-_»

Phenol can be distinguished (rom cthanol by

the fullowing reagente exewpt

(&) sodium

(b) NaOH/1.

fo) newtral FeQly

idl Br,/HO

te) phrhalic anhydndescone, H.S0,
WaOH

and

, The enal form of acetone after treacment

with 150, gives
(a) H,C—C=CH,
|

op

(b HL—C
i
0

(¢) Hi==C— CH.D
OH

(d) HC=C— CHD,
1

OH
{e} (3] o !=ﬂ!-— m;"_

]

QD
An alkens on reductive ozonolysis gives
Z-molecules of CHZ(CHOJ,. The alkens i
{a) 2, 4-hexadiens
(h) 1, 3«cvelohexndiens
fc) 1, s-cyclohexadiens
fdy 1-methyl-1, 3-cyclopentadiene
e} 1, 2-dumethyleyelopropene
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identify the compound Z in this reaction
sequence

CHCHC00H =3 x 2o KOH,
y HNO,
{a) CH,OH (b) CHCH,NH,
(c) CH.CH,OH (d) CH,CH,CH,OH
(¢) CH3NH,

The following homogeneous gaseous
reactions were experimentally found o be
second order overall.

L2NO — N, + 0y
IL 30; — 20,
Il NOy — NO + NO,
W.H;+ [ — 2HI

Which of these are most likely to be
elementary reactions that occur in one step 7

{a) 111 only (b) Jand I
e} land IV (d) I and IV
(e) I, Il and I

On a humid day in summer, the mole
fraction of gaseous H, O (warer vapour) in
the air ar 25°C can be as high as 0.0287.
Assuming 2 rtotal pressure of D.977 atm,
what is the partial pressure of dry air ?

{a) 94.9 atm

[b) 0.949 arm

(c) 949 arm

(d) 0.648 atm

fe) 1.248 arm

. For which of the following sparingly soluble

salt, the solubility (s) and solubility preduct
(K,;) are related by the expression
s=(K, /s 932

(a) BasO, (b) Cas(PO,);
(©) HgLl (d) AgsPO,

(e} Cus

At certain remperature, a 5.12% solution of

cane sugar is {sotonic with a 0.9% selution of
an unknown solute, The molar mass of
solute is
(a) &0
(c) 120
{e) 92.34

(k) 46.17
(dy 90

3z2.

3a.

3s.

37.

38.

Which of the following is true in respect of
adsorprion ?

(a) AG <L AS> 0, AH <0

(b) AG <O AS <z AH <0

(€) AG>D,AS >0 AH <0

(d) AG =G AS <O AH >0

{e) AG>0:AS>0,AH >0

The amine which will not liberate nitrogen
on reacton with nitrous acid s

(@) trimethyl amine (b) ethyl amine

(€) sec-buryl amine  (d) ¢-butyl amine

(e) iso-propyl amine

One mole of acidified K.,Cr,0, on reaction
with excess KI will liberate ... mole(s) af L.,

(a) 6 b 1
(e} 7 (d) 2
(e) 3

Which of the following exists as Zwitter ion ?
(a) p-aminophenol  (b) Salicylic acid

(c) Sulphanilic acid (d) Ethanolamine
(e) p-aminoscetophenane

, Consider the following halogen containing

campounds

[.- m{mj E- w.‘
I, CHyCly V. CH QI
'

The compounds with a net zero dipole
moment are

(a) 1 and V only {b) I only

{c) Ul and IV only (d} 1 and IV only
(e) M only

Which of the following is bacteriostaric ?
{a) Penicillin (b) Erythromycin

(c} Amino glycodine (d) Ofloxacin

(e) Bichional

Which one of the following ser of quantum
numbers is noc possible for electron in the
ground state of an atom with atomic number
197

(A) n=2[=0m=0

M n=21=1lm=0

() n=3,l=],m=-~1

(dl n=3 (=2 m=~2

() n=41=0,m=0

CHRISTIAN MEDICAL
COLLEGE VELLORE



39,

41,

42,

CHRISTIAN MEDICAL
COLLEGE VELLORE

CMC Vellore (Medical) - Sulved Paper 2011 9

The sequence thar correctly describes the
relanive bond strength pertaining to oxvgen
molecule and irs cation or anions (s

(a) OF »0; >0, >03
(b) 0, >0 >03 0%
(e) 0;>0,>0: »0;
(d) 03 »0,>0; >0%°
(¢) 0;>0; >0 >03

. The hybrid rocket propellant consists of

(a) merylic rubber and liquid nitrogen
tetraoxide
(1) polvurethane and ammonium
perchlorare

(e) nitroglycerine and nitrocellulose

id) liquid hydrogeén and liquid oxvgen

(e} hydrogen peroxide

Boric acid s used in carom boards for

smooth gliding of ppwns because

(a) HyBO; melecules are lnosely chemically
bonded and hence soft

(b) its low density makes it uffv

(c) it can be powdered 10 a verv small grain
size

{d} it is chemically inert with the plywood

(e) H-bonding in HyBO4 gives 1t a layered
structure

The pair of [Co(SO,)(NH;)ICl and

[CoCl{NH;);i50, constitutes

{a) opucal isomer:

(b} linkage 1zomers

(] coordination isomers

(d} hydrate isomers

(e} wmsation isomers

. Which one of the following pairs of elements

is called ‘chemical twins' because of their
wery similar chemical propernes?

(a) Mnand W (b) Mo and Tc
(c) Feand Re (d) Hiand Zr
{e} Fe and Co

. The IUPAC name of [Co(NH, )yONOJ* ton i

(a) pentammine nitrito cobalt (V) ion
{b) pentammine nitrite cobalt (11} ian
¢} pentammine nitra cobalt (111 on
(d) pentammine nitro cobalt (IV) ion
{e] None of the above

45.

47,

49,

Hydration of different lons In aqueous

solution is an example of

(a) on-induced dipale interaation

(b) dipole-dipole interaction

{c) dipole-induced dipole interacring

(d) atrractive  dispersion  forces betwesn
atoms

(e} inn-dipole interaction

The vapour pressure of rwo liquids X und ¥

are BO and 60 Torr respectively. The rotal

vapour pressire of the ideal solurion

obtained by mixing 3 moles of X and 2 moles

of Y would be

(&) 68 Tarr {b) 140 Torr
{c) 48 Tarr (d} 72 Terr
(&) 54 Torr

The elements present in the core of sarth arne
collecrively known as
{a) lithophiles

{c) chalcophiles

(e}l atmophiles
Concentrated sulphuric acid can be reduced

(b) nucleophiles
(d) siderophiles

by

{a) NaCl (b) MaF

{cy NaOH (dl NaNGQ,

(¢} NaBr

Consider the fons | K, 5*,CI" and Ca™

The radil of these lonic spevics follow the
atder

(k) Ca* > K" >C >5*

(b} €I »5° >K" >Ca*

(¢} Ca* >Cl =K' »>§%

(d) K >5% >a" >Ca™

() 5 >Cl" K" >Ca™

A compaind m which a metal  on
M (=25 has a spin only magnenc
moment of 24 BM. The numbes of unpaired
electrons in the compound and the oxidation
state of the metal jon are respectively

(r) 4 and 2

{b) Sand 3

[c) 3and 2

(d) 4and 3

(e} 3ang !
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To an aqueosus solution contmming anions, a
few drops of acidified KMnO, are
added. Which one of the following anions, if

present will not decolourise the KMnO,
solution?

() I (b) COT

(e) 5 (d) NO3

{e) CI"

The ion thar is more effective for the
enagulation of AsS, sal is

(a) Ba* (b) Na-

{c) POy (d) so¥

(e) AI*

. Lassaigne’s test for the detection of nitrogen

Fails in

(a) HyN—CO—NHNH, - HCl

(b) NH,—NH, - HCl

(¢) NH;—CO—NH,

(d) C4Hy—NH—NH, - HCl

(¢) CyH.CONH,

The alkyl halide that undergoes S,; 1 reaction
mare readily is

{a) ethyl bromide

{b} iso-propyl bramide

{c) vinyl bromide

(d) n-propyl bromide

(e} t-butyl bromide

Select R-isomers from the following

CHO H 3
H‘*—OH D—&—OH D—ﬁﬂ
CH,0H CHa CH4CH,
! n m
CH, COOH
H+0H H;C—*—HH:
CH4CHj3 H

(a) land M
ib) . 1Vand V
{c) 1,1 and 111
{d) 11 and M
(e} I, Il and V
56. Which of the following s a better reducing
agent for the fallowing reduction ?

RCOOH —— RCH.OH

(a) SnCl/HCl
(b) NaBH, ether
(c) H./Pd
{d} NJH;."E-JH xn.?\rﬂ
(e} BiHy/HL0"
57. The ore thar 15 concentrated by [rath
floatation process is
(a) zincire (b) cinnabar
(c) bauxite {d) mulachite
{e) corundum
58. The oxide of an element whose electronic
configuration is 1s*, 2¢%, 2p°, 3¢ is
(a)} neutral (b) amphoteric
(¢) basic (d) actdic
(&) data insufficient
59. Among the following. the compound thar
contains fonic, covalent and coordinate
linkage is
(a) NH, (b) NH,CI
(e} NaCl (d) CaQ
(e} CyHLHO
60. Which of the following is fully fluorinared
polymer ?
{a} PVC
(b) Thiokol
(e} Teflon
(d) Neoprene
(e} Saran
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Biology

. Plants reswricted w certmin loealities o

referred 1o as

(2] exote
{¢) mntroduced

(b endemic

(d; natural

Some baciena are nof easily killed o
antibiotics or hear memmeni because of their
(a) capsule

(b} emunous cell wall

0} mucopeptides in cell wall

{d} mesosomes

Which type of ribosome 15 found n Nostot
cells?

{u} 705 (b BO S
{c] 555 (d) 305
. Haplowd cellz can be obiained from
(a) leaf b} stem
1€} seed (d} anther
Bromelain is an enzyme extracied from
(a) yeast (b} Fieus
(¢} pineapple {d] papava

Genes not located within the nucleus are
almost always found In

(a} cytosol (b) ribosome
{e! cyroskeleton d} cell membrane
Spine fermation is found in

(a} Opuntig _(bj Nepenthes
(€) Aspuragus (d) Drosery
Which one reproduces vegetarively?
(a) Allium cepa

(b) Allium sativim

(c] Pisum sativim

[d) Zea mayvs

Gall flowers of figs are

{a) staminate (b} pissillate
(¢} neutar {d) naked
Qulescent cenire possesses

() actively dividing cells

(b} meristematic cells

(c) passive cells

{d} storage cells

Stomata are evenly distribured on upper and
lnwer surfaces of leaf in

{a) potato {b) mulberry

(€1 Vallisneria {d) Ewhhorma

12,

13.

14.

15.

17.

18,

19.
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Cork cells are dead because they du s
plsaess

il eellulosie eell wall

(b1 parmeable cefl wall

() promplast

(d} menstematic activitics

Transfusion tissue s meant for iranstocation

(@l organic solutes (B sap

() food materials  Ld1 Al af these
An aleohol-dipped cell Kepr i hyperionic
suirose solution will

{n) burs

(b} plasmolysed

{c) remain unthanged

{d] become rurgid

The plant ash 15 an indication of

(a) mineral salts absorbed by the plant
(b1 organic matter of the plam

{c) both minerai salts and organic matier
(d} Mone of the above

. The smalless known plam having the same

pigments as grasses nnd trees, belonws m
ta) Chiorophyceae  (b) Schizomyoetes
(¢} Bryophyta ld) Anglosperins
Synthesis of ATP in mitochondria requires
(a) NADP (by FMN

(c) uxygen (d) pyruvic acid
Polygonum type T-celled embryvo sac closely
resembles wo

ta) Alllum rype by Druso tvpe

(e} Adoxa type (d} All of thuse
Frult formatian (s directy assocured with
stimulus of

(a) pollination

(1) ferulizanon

() endospore formation

{d} None of the above

Harmone related to photanmpism 15

la) TAA (b} GA

(el kineon (d) 2, 4-b

In mangrove forest. there accur

(@) rich bindiversiry

(B} very severe interspecific competition
(e} very severe imraspeaific competinon
id) no Eompetinon
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22. Secondary growth is nor seen in

{a) succulents (b} xerophvies

{c) hydrophytes (d) mangroves
Important Value Index (V1) is derermined
using guantitative data of

{8} relavive density

(b} relative frequency

{e) relative dominance

(d) All of the above

23.

24, Maximum radiant energy is trapped by

{a) algae () herbs

{e) shrubs {d) trees 38.
25. Which of the weed is most harmful?

{a} Azollu (b} Parthenium

{e] Salwnia {d) Salicornia
26. Early blight disease is related 1o 39.

(a) sugarcane

(¢} onion

Bioenergy is always
(a) ecofriendly

{b) cheap

(¢} non-polluting

(d) Both (a) and (b)
Axenic culture means
{a) eell culture

(b} cell culture free from microorganisms
(c) cell culture free from plants

(d} None of the abave

(b) potaro
(d) rose
27.

29. Nif genes are fixing genes for

(a) nitrogen (b) oxygen

{c] carban {d) nitrate 43,
30, A cell having genetically different DNA

strands is called

{a) callus {b} evbrid

{c} chimera {d) plasmid 44,
31. Glisson's capsule is rélated to

{a) inrestine (b liver

(c) lung {d) stomach 45,
32 Crypts of Lieberkuhn have

{a) a-cells (b} freells

(¢} paneth cells {d) Kupffer's cells
33. Circulation is closed type in 46.

{a) frog {bY human

{c] monkey (dl earthworm
34. Frogs and toads belong to the order

{a) Caudara (b) Apoda

fc) Anura {d) Gymnophiona

35,

36,

az.

41.

41.
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The Vibrissas of a rat s arranged in

{a} 2 groups {b} 3 groups

{c) 4 groups () 5 groups
Kwashiorkar (s a deficiency disease of

(a) protein (b) far

(¢} carbohydrare {d) minerals
Which refers to biocatalysts?

(a) Erepsin, amylase, rennin

{b} Rhodopsin, pepsin, steapsin

{e) Myosin, oxytogin, adrenaline

{d) Glucose, amino acids, fatty acids
Which of them possess non-elastic lungs with
elastic air sacs connected to them?

{a) Birds {b) Reptiles

{c)] Mammals (d) Amphibians
The vellow colour of urine is due w©

ia) urea {b) bilirubin

(e} wuric acid (d) urochrome
Retinal cells involved in colour vision are

(a) cones (b) comea

(c) neurons (d) neuroglial cells
Pituftary lies in the sella rurclea of

{n) nasal (b) vomer

(c) erhmoid {d) sphenoid

tylucagon charactensthically increases all the

following except

{a} ketogenesis in the liver

(b} glycogenaolysls in muscle

(e} lipolysis in adipose tissue

(d) urea synthesis in liver

t’lnmhmne atack complex (Mac) is formed
y

(a) Blvmphocytes  (b) macrophages

(e} T:lymphoeytes  (d) complements

Which one is not relared o hallucinogens?
fa) LSD (b) Manjuana

(¢} Psilocyhin {d) Heroin

Chromatoid bodies in Entamoeba histolytica

are found in

{a) cyst (b] minuta

(c) metacyst {(d) trophozoite

Animals which have well-marked digestive
cavity are put under

(a) Metazoa

{b) Bryozoa

{¢} Parazoa

(d) Enterozoa
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Blood of earthworm & red because [1v 54, Which of them are not homologous?
haemoglobun is La) Insect legs
La) reduced (b} oxidised (b} Insect mouth parts
1) intracellular {d) inrercellular (¢)] Vertebrate forelimbs
Larva of housefly lacks (d) Birds and insect wings
(i} oyes b abdomen 55. An example of vestigial nrgan 5
(¢} fins (d) spiracles {a} hair of bear
Which of the 1ollowing stam s obtained trom (b) ear of cow
the female scale insect Covcws cacti™ (¢} rusk of elephan
() Carmine ib) Qrecia (d) nictitating membrane of man

56. The closest relative of modern man

(¢} Haematoxylin (d) Crvseal violer

Creartinine 15 [ormed metabolically from
(4) arglnine (b} histicine

(e} mryptophan id) phenyialanine
Example of & phosphoprotein is
(a) mucin (b} casem

(¢} ferritin (d) haemoglobin
Which of the tollowing diseases s related o
coiour blindnass?

(@) Night blindness

(b} Haemophilia

(c] Cataract

id) Cancer

The category of molecules produced by
Miller-Urey axperiment was

(a) organic polymers

(b) invrganie polymers

(¢] organic monomers

(d] inorganic monomers

English

The IGC Executive Board has deciared thu
4-team will be eligible for the 2015 Worid
Cup, v be held in Australis and New
Zealand, What number has been decided for

2019 World Cup?
(a) 10 {b) 12
(«) 14 (d) 16

. In. which of following States the Sick

Newborn Care Unies (SNCUs) are being ser
up in all districe hospital with a view
minimizing the infant and child mormality
rate?

(n) Gujarar
(g} Bihar

{b) Punjab
(d} Haryana

57.

SB.

59,

3.

considerad o be
(al monkey

&) Ape

Why pea plants were more sutable than
dogs for Mendel's expenment™

(a] Dogs have many genetic raits

{b) Pen plants can be self fertilized

(c) No pedigree records of dugs

(d} Pea plants favour eross ferilization
Super position image formatiun tuhkes plac
In cockroach during
ta) dim light

(e) bright light
Scales are absent in
fa) Carln (bl Wallago

e} Cirrfiinus () Scoliodon

The mammals evolved from the reprie in the
{a) Cretacepus {b) Trisssic

[c) Crevonian id) Carboniferous

{b) chimpanzoe
) garilla

(bl ditfusesd light
(d] Nope of these

Which famous temple 0 Kerala sparked
widespread imterest when @ [reasure trove
amounting w 5 22 was unearthed during 4
stock-taking exercise?

{al Sn Guruvayr Temple

{b) Sri Padmanabhaswamy Temple

(€) Sril Lakshman Temple

{d) Puthukulangara Sree Bhadrakli Temple

Which of these s the capital of the newly
constituted eountry South Sudan?

[a) Abe

(b Juba

(g1 Jongh

(dd) Bahr ul Ghazal
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5.

10.

11.

. The first

The 17th SAARC Summit will be held in the

Repablic of Maldives from Nov 10-11,2011.

What will be the theme of this summit?

{a) Investing for Future

() Building Cross-Border Confidence

(c) Respect for Elders and Love for Children

(d) Building Bridges for Peace, Friendship
And Security

UID number was issued on
Sept 29, 2010, in a village of Nandurbar
district of Maharashira. Since then, one crore
Indians have been issued their Unique
Identificarion  Numbers. The government
targets of issuing 60 crore Aadhaar numbers
by which year?

(a) 2013 (b) 2014

(c) 2015 (d) 2016

Which of the follewing biosphere reserves
(NBR) is going to be showcased for the
award institured by the UNESCO 1o mark the
40th year of its theme “Man and Biosphere™?
{a) Sunderban {b) Nilgins

¢} Manas (d) Nokrek

The World Chess Championship Title mawch
in 2012 will be held in Chennat in April-May
The title clash will be beiween defending
champion Viswanathan Anand of India and
Horis Gelfand, who belongs 1o

fa) Spain {b) Belarus

(c) Israel (d) Russia

Basant Nayak, who passed away recently,
was a film-maker of which among the
following film industry?

{a) Tamil (b) Telugu

(c) Oriva {(d) Bhojpuri

Which day is observed as the internauonal
day against drug abuse and illicir trafficking
throughour the world?

(a)} June 23 (b) June 24

(¢) June 25 (d) June 26

Which of the following rivers is also called
‘Ganga of the South?

{n} Krishna (b) Godavari

) Cauven {d} Tapd

Maximum crude perroleum in India is
produced in

(a} Asom

{b) Gujarat

{¢) Off-shor Bombay High
{d) Coastal Tamil Nadu

13, Lines which join the places receiving equal
amount of rainfall are called
(a) Contours (b) Isohyets
(c) Isotherms (d) lsobars
14. Which among the following rivers makes an
esmuary?
{a) Cauveri {b) Krishna
(c) Narmada (d) Ganga
15. Which State of India has the largest area
under forests?
{a) Arunachal Pradesh
{b) Madhya Pradesh
{c) Maharashtra
(d) Nagaland
16. The highest peak of India is
(a) Everest {b) K2
(c) Pokalde {d) Nanda Devi
17. Oil reserves are found mainly in following
rocks
fa) Metamorphic {b) Sedimentary
(c) Igneous (d) None of these
18, Which Sware in Indis is famous for sandal
wood?
{a) Maharashira (b) Karnataka
{c) Kerala {d) Andhra Pradesh
19. Indian Standard Time is caleulated on the
basis of that longitude, which is near
(z) Allahabad (b) Lucknow
{c) Kanpur {d) Varanasi
20. The shape of the earth is oblong spheroid
due to
{a) actraction of moon
(b) internal structure
(c) revolurion around the sun
{d) rotation about jts axis
21. During which geological age did dinosaurs

roam on the earth?
(a] Jurrasic
{e) Cambrian

(b) Tommatian
{d) Precambrian

22. The Southernmaost point of mainland India s

{a) Chennai

(b} Kanyakumari

(¢) Thiruvananthpuram
(d) Mangalore

CHRISTIAN MEDICAL
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Which of the followming scales & used 1
measure earthguake intensioy?

() Mohr's scale (b} Richier scale

(¢} Beauforr scale (d) Nane of these
I'een-Bigha Corridor links

(a) Bangladesh and India

(b) India und Nepal

(¢} Bangladesh and Nepal

(d} Indin and Pakistan

A solar eclipse occurs when

(a) the earth comes in: between the sun and
the moon

(k) the sun comes in berween the moon and
the earth

() the moon, the sun and the earth are in a
straight line

{d) the moon comes in berween the sun and
theearth

Ihe Panama Canal conmects

iasthe  Adantic  ooean
mediterTanean sea

(b} the Adantic ocean and the Intian ocean

{¢} the Pacific and the Atlantic oceans

{d} None of the above

and  rthe

On which river is the highest wartertall in
India located?

{n] Krishna (b} Gudavari

{c} Sharavat (d) Tapti

The country with highest population density
in the world is

{a) England (B) Nuaure

{c) Japan (d) India

The ‘Chipko Movement' was abaut

(a) forest conservation

by wildlife prezervation

(c} scientific agriculoure

(d) deforestation

Which is the longest Natonal Highway in
India?

faj NH 1 (b) NH 24

€} NH7 (d) NH&6 =
The ciry known as the ‘Pirshurg of India’ is
(a} Jumshedpur

(b} Tatanagar

() Hardwar

(d) Bhila:

32.

34,

35.
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Which of the following is the best type of
coal?

(a) Anthracite b} Lignite

(c) Peat {d) Limonie
India’s largest lake Chilka is situared in
{a) Odisha i(B) Maharashira

(¢) Wesr Bengal id) Karnatnka

A sorm is indicared if atnmospheric pregsug
(a) falls suddenly

(b) rises gradually

(¢} rises suddeniy

{d) falls gradually

Who is credited with the degign of
Mahal?

(a) Ustad [sa

(c) Syed Hussain

Fal

thy M Al
(d) Abdus Sumad

o The Qurub Minar ar Delhi was buill o

commemuorate honcur

(a) Queubuddin Albak

(b) Nrurmush

(c) Quiubuddin Bakhnvar Rak
(d) Alauddin Khalp

- |Flp1ll'l|'=ﬂ! are the snered cexis of which

religion?

La) Jainism
(¢} Pashupatas
Which leader starred the now hugely popula
"‘Ganapan Festival' in Muhasashoa®

{a) Dadabhai Nauroji

(b) MG Ranade

(¢) Bal Gangadhar Tiak

{d) None of the above

Bahadur shah Zafar, the last Mughal
exiled to

(a) Maldives (b, Rala Pam
i€) Rangnon (d, London
The Mughal Empercr who again imposed
Jaziva on Hindus was

(k) Buddhism
[d) None ol these

W

{a) Aurangzeb (b} Akbar

(c) Shah Jahan (d) Humayun
The Bengal Partition was announced in
{a) 1911 (&) 1901

(c) 1905 td) 1916

Who was called the ‘Nightingale of India ?
{a) Pandira Ramabal

(b) Ralpana Duct

(¢) Suchera Kriplami

(d} Saraiini Nadu
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Where did in India Mahatma Gandh first try

his techniques of Saryagraha?
(i) Poona (b} Champaran
(e} Delhi (d) Sabarmati

‘Lilavati’ an ancient work on Machematics,
was written by

(a} Aryabhatta (b} Varahmihira

(¢) Bhaskaracharya (d) Banabhatta
Which of the following was a famous
physician?

(a) Charvak (b) Kamban

(e} Charak {d) Bhaskar

Which Gupra ruler has been depicted on his
coins as playing veena?

(a) Skandagupta (b) Chandragupta
(¢) Samudragupta  (d) None of these

In which year was the bamle of Plassy
foughr?

{a) 1761 (b} 1757
(¢} 1857 (d) 1843
Alberuni has given the detailed account of

his visit to India in

(a) Kiab-ul-Hind

(b) Tarikh-i-Yamini
(¢} Futuh-us-Alamgin

[d) Hamzanamah
. Who was the British Prime Minister ar the
time of independence of India?
(a) MeDonald (b)) Atlee
{c) Churchill (d) Cripps
The ancient name of Bengal was
(a) Gaud (b} Sopara
(¢} Kamarupa (d) Panchaln

Name the founder of the Widow Remarriage
Association in the | 9th century,

(&) Ishwar Chandra Vidyasaga

(b} Vishnu Shastri Pandit

(c) Raja Ram Mohan Roy

(d} Gopal Hari Deshmukh

Which Mughal Emperor gt constructed the
Peacock throne?

{in) Jahangir (b} Aurangzeb

(¢) Shah Jahan (d) Akbar

Who wis the only Indian Govemor-General
af Indin?

(a) Jawahar Lal Nehru

(b} Narendra Kriplani

54,

57

58.

59,

61.

62.
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(c) Rajendra Prasad

(d) C Rajagopalachar

In which language was the Sangam
literarure composed?

{a) Sanskrit (b} Aramaic

(c) Prakric (d) Tamil

. Which of the following objects has been

discovered ar all the Harappan sires?
{a) Seals (b} Ploughshare
(c) Gold ornaments (d) Spindles

» The revenue system of Mugha! Empire was

revamped by
(a) Raja Birbal (bl Raja Man Singh
(e} Todarmal (d) Balram Khan

At which session of the Congress it split due
to the differences berween the Extremists
and the Moderares?

(a) 1903 (b} 1904

(2} 1906 (d) 1907

Who among tne following was called The
Grand Qld Man of India"

{a) Mahatma Gandhi

(b} Dadabhai Nauroji

{c) AD Hume

(d} Badruddin Tvabji

Which Mughal ruler got executed Teg
Bahadur, the Oth Sikh Guru?

(a) Jahangir (b) Aurangzeb

ic) BahadurShah! (d) Shah Jahan

'Prithviraj Raso' was written by

{a) Bilhan {b) Amir Khusro

(c)} Chand Bardai (d) Kalhana

Gandhiji withdrew the Non-Cooperation
Movement due ta

(&) agreement with Lord Irwin

(b} Jalianwala Bagh violence

(¢} Chauri Chaura incident

(d) None of the above

Maharma Gandhi was the President of the
Congress in which session?

{a) Bombay, 1942

(b) Belgaum, 1924

(e} Caleurta, 1920

{d) None of the 1bove
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Which of the following bodies (s not o
consututional body?

(a] Planning Commission

(bi Election Comtnission

(¢l Finonce Commisaion

(di Union Public Service Commission

. The Zero hour is ser aside for

{a) asking questions

(b) rest break between rwo meetings of the
House

{c} discussing budger pruposals

(d) miscellaneous bustness

The Pro-tem Speaker

{a) swears-in members and hold charge till &
regular Speaker is elected

\b) officiates as Speaker when the Speaker s
unlikely to be elected

(¢} conducts the proceedings of Houses in
absence of the Speaker and the Depury
Speaker

(d) checks if the election certificates of the
members are in order

Which among the following is referred to as

the ‘First Citizen of India™

{al The Prime Minister

(b} The Chief Justice of India

(c] The Lok Subha Speaket

{d) The President

The ninth schedule of Indian Constitution

denls with

(a) ann-defection legislation

(b} Panchayati Raj

[c) land reforms

(d) distribution ot
Union and Swtes

powers  between the

. Which aof the following UTY sends most MPs

w the Lok Sabha?
{a) Chhattisgarh
(bl Delhi

(e] Puducherry
{d) Andaman

. Indian Constitution heavily borrowed from

{4) the srstwhile USSR Constitunan
(b) the British Constitution

(e} the Goveaf India Act: 1935

(d) the US Constirution

70.
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Who ofticiates as the President when offices
of both the President and the Vice-President
ate vacant?

(a) The Lok Sabha Speaker

{1} The Rajya Sabha Chairman

(¢} The Chief Justice

(d) The Home Minster

Who was the first woman Governor ol
State”

{a) Indira Gandhi

(b) Sarcyini Neid

(¢} Vijaya Lakshm: Pandi

(d) Lakshmm Sehgal

The Constiturron states that ndie shall be
{a} a Union of Staces

(b} Unitary Stare

{c} a Federation

{d} a Confederatihiii

The number of Fundamentsl Duties
mentioned in the Constitution 15

(a) 12 iby 10

(g} 11 ) 13

The muximum permissible tme.gap berwern

1w consecurive sessions of Parliament s

La) 3 months {bl 2 months

{c) & maonths fd) 4 months

Right to education to all children of the
age-group of B 1o 14 years i

ia) a Directive Principle of S:ate Policy

ib) a Fundamental Right

l€) 2 Starutory tght

{d] Nane of the above

A joinc sitting of the two Houses of
Parliament is summoned by the

(a) Prime Minister

(b} President

ie) Members of Lok Sabha

(d) Members of Ragva Sabha

Wha among the following is callea the First
Law Officer of India?

(a) Aworney-Generul

(b} Law Ministay

(¢} Chief Justice

(d) Law Secretary

The Presidem can impose cenimral role on 2
State under
{a) Article 356
{c) Asticle 370

[b) Arugle 256
() Arucle 377



18 CMC Vellore (Medical) solved Paper 201§

™.

Bl.

Bl

85

B

How maeny members can the President

nominate to the Rajva Sabha?

{8} 12 members (h) 18 membaers

{e) & mombers {d} 15 members

‘World Bank' is also known as

(o} [miernational Bank  for
Development

(b} Invernational Bank for Rehabilization and
Development

Iz) International Bank for Refinonce and
Development

(d) International  Bank for Reconstrucuon
and Development

The headquarrers of the Aslan Development

Bank is ar

{a) Mamla (b} Singapure

(c] Dethi (4] Bangkok

‘CAPART is engaged primarily in

{a) e-governance

(b} share market

(¢} rural development

(d} pollation control

Research  and

. The difference betweéen the GNP and the

.

NNP s equal to the

(a) copsumer expenditure on durable goods
(h} indirect tax revenue

{c) direct tax revenue

(d) eapital depreciation

Bank rate s the rme at which the RBl
provides loans to

(i) Public Sector Undertakings

(b} Privete Corporate Sector

(¢} Scheduled Commercial Ranks

{d) Non-Banking Financial Institunons

Which sector of India’s economy employs the
maximum number of peaple?

{a) Primury sector

(b} Secondary sector

() Tewary sector

{d) Mone of the above

Whar does AGMARK signify?

(ol A gualty  guarantee
agnwuiiwml prodioes

(b} Regpulated wrivultaeal gl Alidkes

i) Fathint

(EL R R 17 o R TR G TR |

stmp for

LI B | RPEN

-
i

88.

90

91.

92.

93,

9%4.

The rerm 'Green Revolution” indicates higher
production through

ta} enhanced agricultural productiviny
ik} planting muore 1rees

() creation of grassiunds

{d} creation of garden in urban s
‘Wall Street’ fs

{a) the financial centre of USA

(b} the newspaper centie of Bivain
(c) the grear wall of China

(d} a renowned atrect in France

. GDP s defined as the value ot o)l

in} final wvalue of woods and services
produced in-an economy In o year

(b) goods and services produced in
ECONDMY in a vear

(c} final goods produced i ap etonomy in o
year

{d1 goods produced in an sconmmy i a year

ATM stands for

(@) Awomatic Tally Machine

b)Y Autamaotive Teller Machine

(¢l Auromanic Teller Machine

[d) Auromated Tally Michanism

Which States of Indin benfired most frop

reen Revolupon?

laj Pungnb. Harvana
Pradesh

(b} Rajasthan, Guiarat and Maharshira

] Bitar, Urtar Prodest and Asom

fd) Tamil Nadu, Andhia Prodesh
Karnataka

Who is the brand ambassador of Thums Lip

o) Salman Khan

th) Amar khan

(e} Akshay Kummt

(4 Shahrukh Khan

When was the General Agreement on 7

ond Trade (GATT) absorbed into the a0

Trade Drganjcation (W17

ia) 1991 (b) 2000

fr) 1995 id} 2005

The First Five Year Man adopted
(a1 Harm! Domar modied
M AJanabanobis imode!
Lewts For medal
Il Btanh, Model

an

and Western  Uttmn

#nd
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101.

102,

103,
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Fhe Mid-dav Meal Scheme wos launchen
the Union Ministry of

a) Home Affairs

(b)Y Social Welfar

el “.H-L:'

il Mone af the abovy

Fublie Dhstribugon Sescear was lnunched tu
f prevent hoarding and block-markering
LBy provade food secunity (o the pOoL

Wl prevent overcharging by raders

(d) Al of the above

Wincli wear v hnown as g Year of Greds
Wivide with respect 1o pepulation: groweh i
frchiiT

w1947 (h 1931

fod 1931 id) None of these
Which tvpe of unemplovmen can ouour evin
i situatigny ol tull emplovmeot?

e Atructura) unemplivinent

Fatgtional anemplosmivne

fe il uihmployvTent

(0 Dissupved unemplovmens

The number of companies » oae el uhder thu
BSE Sengon is

(o i) (nl 25
==
s Npelear Nss10n i coused B 1o ampact ol
Lit] preomn (bl elecon
LES RULEG id) e of e

which of ithe  ollownsy  hds the Jeast

peretrating power?

L) Adpha particles

() Beta panicles

{e) Gumma rays

(d) All have the same penetiating power

Wineh of the following ang the discoveries of

Einsteln?

fiay Radioactvity and phoselectiiv offec
tondioactiviey and theors o felatvin

voootmore of pelapviry il photeetestric
u'ffﬂ"[

(i Neravs wd phyomesdocric ethect

Crvogenic chigses Bnd pphcaiiuns:in

(1) rockes seclinolor:

(b) frostfies retrlseldtos

{c) submaine prop Hind

fu) researches i o raon didiom

104, Optic ribres ore munnly e o winch ol the
following®
La b ammtinicatm
(hi Weaving
te0 Musteal mstriamens
(di Foud indusarn
LOS. Which of the following is used ar & Solan in
nuclear rescmrs?
Ll ety v I Cauitin
(et Lraud sodiam Ldy | G
106.. Wiich ol the fellovig 1= th
(a Muorcury i Silve
1C1 Lathium vl Lt
107, An alloy used ol making heates:
for electrie Heanng Jevices i

Lal sulder ] alloy s
{€) niimme 3
108, Carbsvn, diamiind ! srary
ultiog
1l Isanrers ) alledrng
21 dwamiorpli bl ey
109, Whh ob the Toeliaving sl ARV

parlogrs Jior haw sesroge?
(o) Chloring

() Sulpiiur

(el Piiospinrus

1d) Sslioon

1 LU, Ll atns ate Lk {4
@) heuum P v
Wl PETGsen &) o

i1 Which 4 the tullpwing wompounds  om
respunsble [ B fall
1. Nirugen digxide
2. Sidunn e
3. Buiphur diukuir
o Car TR G L
Solert o evien amedes e she utaes
given bty
fi Tand 2 By annd
& dand # wh Tt .
PAZ - WATHING: VA i e cugustion i
BT O T TR T [
B eabmue ty ate
wBRV LS A

LT " “_.H_ 45"
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113. A person who lives exclusively on milk, eg2
and bread is likey 1o become a victim of

{a) rickets

(b) scurvy

(c) ia

(d)} None of the above

During sleep a man’s blood pressure

{a) increases

{b) decreases

{c) remains constant

{d) flucruates

Ready source of energy available for athletes
is

{a) carbohydrares

(b) fats

(c) proteins
{(d) vitamins

114.

115.

116.

117.

118,

119.

120.
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Alzheimer's disease in human beings is
characterised by the degeneration of

[a) kideny cells {b) nerve cells
{c) brain cells {d) liver cells
The pH of human blood is between
(a) 65-7 (b) 75-8
{c) B-9 (d) 45-5
Flower colours are due to

{a) ehlorophyll (b) melanin

{¢) phytochromes  (d) anthocyanin
Which vitamin is provided by sunlight 1o the
body?

{a) Vitamin-A
{¢) Vitamin-C

(b) Vitamin-B
(d) Vitamin-D

Human body is
{a) heart (b) liver
(¢} ladney {d) brain
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Physics
1 [a) - S - 1] 4, (@ 5 (8} 6 (c) T. (b) 8, (a) 9. el 0. (d]
M, fel 12 in) 1% by 14, (dy 18, () 6. fel 17 (b} 1A (el W (B 20. (b
24 (el 22 in} 33 (et 34 {e) 2% ich 26 {27 () 28 (b) 20 (b 0. (di
31. ib) 32 fej 33, idd 34 (ml 35, o) 36 (a) 3. (d) 38 (c) 39, (c 40. ()
41, (b) 42 (0] 43 () &4 (D) 45 fa) 48 (¢) AT (0 48 (u) A9 (b} S50. (&)
1 (dl 82 (a) 83 ig) 54 (m 85 () 56 (b} ST. (41 BB, (¢} 58 (d 60, (b)
Chemistry
1. iaj 2. (e 3 icl 4. (b 5. & 6 (b 7. dc) e 9 (e 10w
1. 1% (e} 13 idj 14 (d| 15 18. (@) 17. (d) 18. (g) 1M, (4] 20. (@)
21, &) 22 (el 23 lop 24 (A 25 w28, o) 2 le) 28 (<) W by 30, (el
M. () 32 (b A% (a) M. (el 35 & 36 (a3} I (b 38, (d) W (d) 40, (m)
41. (o] 42, (81 4% (d) 44 (b} 45 (@) 4B () 47. (d) 48 [ml &R jm} S0, f{d)
5. by 52 (&) 53, b} 54, (@) 5% (e S5 (&) 57, (b} 58 (e} 53, (ny 60 ()
Biology
1. (&) 2 ) 1 (st 4. (dl 8 gl B. &) 7. (& 8 0l 8 g} 10. (B
M., @1 AL (&) 1 i) M {5 W (a 16 {m) 1. ic) 18. {di 19, (s} 20, (&)
249, (e} & (e 3. (di 4. () 26 26. &y 2r. (40 28 by 29. fa} 30 (&)
M. (b} A2 (o ¥ (6] 34 (el 36 e 35 (8 37T, e 38. (&) 38 (gl #40. (m)
41, (90 42 (D) 43, i) 44. (a) 45 (&) 48, o 47, (@) 4B (e 49, lw) S0, (@)
1. by &2 (b 53 (e} 54 (4} 85 7 &6 (b 7. by 58 &) 59 (o) 8O (B
English
1. (&) 2 (d) - 4. (b .- & (b T b B e % e 10. [0}
1. 16 12 (&) 1A () 14 18. o 8. (B 7. (b 1B (B} M. (B 20, (d)
2 @ 22 b 23 by 24 &y 35 ¢ 26 (gl 2T il 28 el am @y MW (e
M, (@) 33 (=) 33 (o . ia 15, |a 38, e . aE. et m. (e 40, (&)
41, ) 42 (8) 43 b 48, |c a5 46 ic  4T. (b)) 48 (@r 49 b)) 50. (a)
61. (by 2 o) B gl 54 g 55 e 58, It 57. (di S8 by 5B (b 60, Ig)
81 e} 62. (b) 81, la) g4, (|di BS a 66. (gt 67. (gl 68, (B) 89. [ T (e)
79. () T (@) TS ) Te (g TS im T (bh YR {a} 7H, (] Te. (a) BD. (0}
81. (a) 82 (¢} 83 (g B4, i) 85 (2 06 (s B7. (3} BE. (@ 85. 3 90. [c]
g, 2l 92 e 93 ich B4

i 5. Iz g6. (ol a7, (b 88 e 99, (g} 100, ic)
101. (a] 102, oy 103 a) I 108, ia 108. ic 107, (ci 108, (b)Y 108, (bl 18, (a)
191 (0] VI 4d) 11 bl V4. (d Y15, . 116, (of 117, (o 118 (di 118, (@) 120. )

-l
[ =
3
=



Hints & Solutions

Width of invident wavefront _ oosi
© Width of refracted wavefront  cosr

_cos60* _ 1/2

cosdS* 1742
|
=

V2

, When electron moves in transverse eleziric
field, the nature of path is parabola.

. Avcording  to Einstein's  theory  of
photoelectiic emission, one incident photon
uf light can eject on¢ photoglectron from the
surface of meral,

i

. A S
; T=u
i
0 =——
1-5
Alsn, 1=-a a-i-—fl-;

. The depletion layer s free from moblle
charge carriers. There is diffusion of ¢harge
carrivers to form depletion laver.

_ Heat absorbed
. Entropy Tempera
-2
= 5 T
= [S1=(MET K1
1
b E==lkgT
Also 2 iy

where k, is Baltzmann constant.

Ul = =%"‘1’;’-‘ (MK
Hence, dimensional formula of entropy s
same as that of Bultzmann constant,

. Since, Bew® = B oru’
dR

> Lg

R o

- 4
“ax i -

- b0
-

Physics
8.

10.

11.

12,

Merann
where, 1 =angle of repuse
= i =tan ‘(p)

(Eg b =hv =iy

(E. ]t rl—ﬁ.Snﬂ.Et‘u"
Similarly (E;); =25 - 0.5=2¢V

(E ), - 1_
(E.)y 4
1 e :
= -%—-— l = 1 e EJI - .I.
mvi “ I': 4
2 -
vy 2

The half-life of a radivactive elemen
depends upon the amount of radioactive
element,

Waork done by the gravitaonal field is zero,
when displacement is  perpendicular
gravitational field.

Here, gravitational field, 1 = 4i+j

1B, is the angle which I makes with positive
x-axis, then

tan g = 1
4
\
ar 0, =tan 'f% |=14'6

If 8, is the angle which the line ¥y = 4x =6
makes with positive x-axis, then
9, =tan "' (-4) = 75°56
S0, i, - B, =90°
ie. the line ¥ =4y = 6is perpendicular to 1

when asntellive is orhitting close 10 eirth, (1
2 1]
orhital velogity, v = "n{,]? 2

26M
i .

eROANC L x‘]ﬂﬂ't}'. ¥, =
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14.

16.

18.
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B - 1 L 1
tore. king . f e [
re. Kinetic energy 2 5%
Rl seguired o escape,
e TR L
Ey =« mpl == .
et B b
Addinonal KE required =2F -E=F
¥A ;‘" . ":f w Gl & YAuAD
F=10" =10 " « 10 "~ 100

= 10N

=k

Innisanon caused i an account of energy

peeduced by electrostatic force.

. Weakest bond in solids sre van dor Waa

bands.
Compare with the standard from
g I [ My
PR, S o
¢

We have

Rare of change of momontum of bullets
weight of disc

ie, 1 'l'—[ - -I‘"’-B
dt
5«10 o 1Ofv = {=vile 1= 1) = 38
Al2v1 -8
”E
i - -5

[¥]
=98 looemss
i

93 cavs
The frequeney of Balmer seris
| 1

-

i

For serigs limi n

Inductive resctance
%

=051

21, Liquids and gases never showe ferromagneti
properties.
Z2Z. The aeflecuon of wngent walvanomets
governed v o current in @ eircular codl
29, F 224 6M,M,
4= ¢t
- B 1= 10

(o

F=10

Cuy = 226V

26. I

Ean of stramns =

[ 2]
[
$

a:l

27. In eonduction process. heat e transmitted
from higher (o [ower remperatire due
mislecular eollision

28, !
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29, Acceleration due to rolling of body on an N, 1\
inclined plane s ~Na 3 |
P 16 2,
a= Hu—‘-'-a- | 1 A ¥ -1 1.a
K3 |~-]-t-— = nad
b+ o \2] (2
: - 2 - n = number of half-lives
P AL "Fnrsphemx—-g [
i 1 Rz 5, —_— il
" 5 T[.'.l
] LS
- et 2 T
"5+2
5 Tz= %
:r:é_:-';g-;x Ti3=05h
5 14 e
30. In sarellize, g is zero, so time period of simple 37. P= R
pendulum is infinite. V2
e v "3 R =—
31, Resistance R = Tl;' = Em._m:":g p
w-J!
1 = 260 230 =6250
Now, power consumed is 1000
3 LA ] .1Tn 38. Internal energy of a gas depends anly upon
W= Lt o 220 220 the temperature, Hence, internal energy of
R 60 the working substance in any cvclic process
=15'W Temaln constant.
32 Ey =220V 41. If ais the relative acceleration, then
E_ 220 3= %n «5x5
il
E P mss”
fp= -Er'—! 25
| 6
Again, L 10= 10
ig E f_zg =2A ¥ 2 25‘
A =12m
= b - liiI “I‘E}'H
va 42, H=———
2
Power=E_. . =1 «cosg e
t sin*®
1 7V — d = = du
W2 W32 T y
L
_220x L. 110w W
2 )
Py % increases In H = -dﬁ » 100
34. Remaining quantity N =Ny - H

2

2
= — w 100 = 20%
whers Ny = initiai quantity 10
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44.

45,

4o,

47.

48,
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To reach the height of suspension, b =1
vy dgh = 200
5
v= 108 —mss
18

=30m's
Momentum =120« 30kg-myc (inial)

Final momentum = Q
change in momentum

Force = :
time
120« 30
= =180N
20
The change in potental  enersy o
gravirational feld is given by
AE =(GMm B
nor
In this problem, f, =R anc 1 - aR
AF =GMm| 2 - L
‘R nA
GMm oy -1
A |
m=1 M
= mgR - § =—3
X = . R
M.'!J‘.IIH'LIITI rﬂl'{.'t' = i'J'Ii.l'I:i.',l
=m = 41y
| &5 2 (60) = 0.02

« 288"

The ampiitude of a plane progressive
wave = a

thar of a spherical progressive wave | -

Momeant of inértia of thin rod
1
ml

J o e

12

51.

32

a4,

55,

CHRISTIAN MEDICAL
COLLEGE VELLORE

Tl
n

Disrance of axis €D from AH = L

From theorem of parallel axis, we have

!
e = la + M| 5

ml®
1&

- mr:
14

5 — rnf‘
48

velucity increases so, the collision are faster
From Stoke's law

F = Gomrv
0.3

F=6rx 18107 %[ 22 |» 100 dyne
L 10

F=0.01073 dyne
F=10173= 10" dyne

Due to 2 magnetic dipole. 8 = -

n=-3
We known that as the phowon v o b
obiemved completely, So, plectron
after collision will be

Eneryy

136 eV = 1312V =15y

4

Thiy means electron can 2o 1o thid
only. Therefore, transitions 3 —+ L 2 -+
3 <+ 1 are possible So. few specrral lines m
Balmer and Lyman series are pussilile

el

In & uniform cicular moton veloons
changes with tume and ner nccelerstion may
or mav not be towards cénre

=l
B AV
!
v
If pis constant, then é‘l.’_ # .;

He is shorr sighted and he has 1w use
cancave lens of f ==100cm
100 100G
perm s -1D

. A& the temperature increases, the averoge
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56, KE ol rotation « 1500

3.

4,

-l-fm': = 1500
2

; ¥ 124" = 1500

. 500« 2
M = L— 'I.: (500

1.2
=+ 2500
=50 rad/«
From equation of rowrtenal motion
o = iy = Ll
50=0+ 251
r= i-- o d 1

25

¢ B = JHQ‘

+ GH 4 X
From conservation of mns: number, miss
numberof X =0 4-12 <1
Simulorly, aromic numbaer of X
4-2-6=0
So. Xis X', w, neutron (,n')

T.-:SIT az

I =395 31
9

fy =35°C

). & 0= (g, =0, 04

= ||'1 Bg-1.52)=« 1)
=002~ 10=0

Chemistry

Reactivity order of alcohols towards ZnCl,
and conc. HCI (Lucas reagent] {s

teriary alcohol > sec oleoho) - priman
aleahol

CH,
I'vimethyl carbingl is CH, —C—OH. It is o
|

CH,
tertiary alcohol, so reacts readily with anhy.
ZnCly and concenrrated HCI
Aldehydes and aromatic ketones both can
react with 2, 4-dinirropheny] hydrazine s
CH,CHIT ¥ HIN NHC H, (NO, ), —
CH;CHs N'NHCHH-j{ND:.': - H_
acetaldehyde phenyl hyvdmzone semums
C.Hsy
>CED + HalN-NHC, H,(NO, )y —
CH,
C;.HK\.\
/E = N NHC,Hy (NO, )y HO

scetophenone pheny|
CH, h}'dgpmw ferivarive

Horie anhydride or baron oxide. B0, if
prescl, makes the glas. hear resistant
Calcium phosphate, Cay (PO, ), is also called
Thomas slag.

5. B,H, has che following steucrune

-7 T

M

H\ H

By B
From the sroactore, it B dear thay B4 B
brige is formed by sharing of two electrons
between three centres. This &5 called banana
bond

136« (2

F ¢
It =1

F ilhd°

4 54 .4

ol

13.6
Z =8
=32

Thus, the species with atomic number 201, ¢,
He 1 has the jonisation energy 54.4 ¢V,

. Since no cation or anion {8 missing from s

lnttice smite in case of Frenkel defect, o
density remains the same.

8. 22.41.NH, =17 g NH,

¥ 17
'-iuit hH1 __'_)—2.—4 " ll.Eg NH-

- 8.5 NH,

CHRISTIAN MEDICAL
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i nomplamm
Wing in plane:

9, e sruo e ©F] = Ca=Crl
with the en --CH, zrmips
perpendicalar m dach nthe

e T Kalvin s

10, Enthalpy 'of monoatomi gits 15.
~RI
k1. C=01M

K, =174x 10"
Accarding o Ostwald dilunan formuis,
[H 1=K, »(

=174 1077 0

= J0.017 - 10

pH =~ log,|H

=—logigly (LO1T - 10
pH = 2.88
12: In this l_'ql_ml_'i.rln_ volime o decreasing am
the feaction 16 exothermag, S0

fighest vield of £ pressure should be high
andd temperature should be low

iy rhe

14 Cu* & 2 —5Cu Ee-nag 8
nt =y —ayn r 0. Th
19,
in tho cell,

anl2n= | CuiCu

anide e
In the eell,
E:u!: F-‘.*h'un!-; EY T
038 - (-07H) = 1]
. Qo391 [E&n
B *En = =3 B (Cu?
1

= 1.1 — 002955 jog a J
=11 - 002955

=107V
14. T=n«ty.
— J2=n=«8
n=4
N =Ny L
2
= 405 M I

210,
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2
125= Ny 4 :
1%
N =125 16= 2000 mg = 2
Gold number of prorective eolloid i detine!
as the amount of “Calloitl in milligrams
which when added to 10 mL of gold solurinn

{tsr prevents its coagulation by 1 ml of 107
NaCl solunon .

gold numbe:
0.0252 =25 Mg
s, the gokd number of starch s
Me formula of the acraltdehvide

Protective power =

| i A |
OHC ~CH=CH,
prap-2 ene-1-al

Lirea shows tautnmensng o
) OH

NH. o G e NH o= NH=C - NH

ksttnn furm eolic farm
Ag lon increases the solubility of alkene
dug o the formunion of pr-idx bonding.
The formula of glveenine is
"CH,—0H +— 1" aleahiol

CH -—0H «—— 3% alenhol

CH-—0OH +— 1" almhol

Thus, 7 contams 17 and 2 earben poans

H-4£ —0OH ll{l..l._}l |
FICOH HCOH

HOCH ':} MO 1
o I HCOH

H‘.'__: M __J

CH,OH

o g lurse

CH5H
e gt

These both the forms= of glucosce differ in the
arentation of — O group afound C
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21. The molar conductivity of  potassium
hexncyanoferrate (1) (e, K [Fe(CN)] s
highest because it gives maximum number of
jons on lonisation.

K[Fe(CN),| ——s 4K~ + [Fe(CN))*

The frst law of thermodynamit con be
expressed as

AE =) - W

Q=5 -W

According o Mackownikoff's  rule, the
addition of a unsymmetrical reagent (HX) w
an unsymmetric alkene takes place in wuch a
way that the negative part of the reagent will
be attached to the carbon atom which
contains lesser number of H-atom. Hence, |t
is best applicable to the reaction berween
CyH; and HAr.
CH{CH =CHj + HBr —— CH,—CH—CH,

Tt ris
alkene Br

24. Phenol cannor be distnguished from ethanol
by sodium beecnuse both evolve hydrogen
with sodium.

2CHOH + 2Na — 2C,H.ONa <= H, T
2C,H.OH + 2Na — 2C.HONa +H, T

B4

257 CH-J —-C=CH; ¥ D.‘IO 4Hﬁ—c=EH;
| i
0H oD
enol form of acetans
26. The alkene on reductive ozunolysis gives

2-molecules of CH,(CHO), Hence, the
alkene 15 1, $-cyclohexadiene,

i
O % oond  tHO

(1) Ha0iZn
}Acveln

hexadiene

NH
27. CH,CH,COOH —s CH,CH CONH,
propionie acid s p‘l‘ﬂpl?;fmdf

HNGy
CHCH,NHy —— CH,CH,0H
ﬂ.ﬂfl u:tnine" 4:|h';l ;Lr’gohul
tZ)

Fractinn tr}

i8.

29.

3o,

31,

32
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2“‘3 — N; L 'D:
Rate = k[ NOY
Hence, order of redction is 2.
HT L o l: —— 2“[
Rate = k TH,)[1,]
Hence, order af reaction is (1« 1) =2
Therefore, these reactions are most likely
be elementary reacrion that oocur (i one
step.
Puz0 = Xy yoPuo
=0.0287 ~ 0.977
= 0028 atm
Prstst = Py ais * Pois0
Piry wie = Punat ~ P00
= (1977 - 0.028 = (. 949 atm
Hg Ly ==t Hg3™ + 201
¥ s

K, =(Hg3 Jfa
=(s) (2P

K!n - *I‘a
- airk
£ e.—{ ‘:'f |
i
Solutions having same osmotic pressure fre
colled isotonic solutons. The oasmaotic
pressure is given as

g u 28T

L
= (tane sugar) = = {unknown solute )
512 Q9

—

342 M

342« 09
512
=60
Adsorprion is an exothermic process and
hence, AH 18 negarive for adsorption. On the
ather hand, the molecules of the adsorbate
are held on the surface of the adsorbent and
hente, they have lesser tendency o move
freely. In other words enropy decreases e,

M=



33,

34.

35
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AS is negative. Accurding 1o
Gibbs-Helmholz equation, MG = AH - T 85

Thus, for the process of adsarprion 10 ocon
AG must be negative. Heney, for adsorption
AG < AS <0 5H <)

Tomethyl amine & o tertry amine I
dissolve i cold rdrous Geit! to form salts
which decompose on wartiny (o
nitrosoaming and altohol. it wil not libeate

mitrogen

(CHy s N + HNO, —

[(CH, 1, NH] NO;
rrimiiethy] sinmoniuen nlsrite

Cr0:" = 14H + & » 20"« THO
(2] —sl,+20 )23
Cr:ﬂE'-ldH'-rﬁl —
2¢t™ +7H0 =31,
Hence, number of moles of 1, produced = 3
Sulphanibic and exists as Zwitter jon.

NH NH
AN N
J- 0
SO,H 807

sulphanmiic sog  Zwintey o0

It exises as & dipolar fon, which has acidic
and busic groups i the same molecule

35. CL'J. and cJ___{ G }_Ll compannids pave

az

38,

39,

rerv dipole moment due tw theit symmetrical
RITuCiure

Ervthromycin is & bacteniostane (inhibiss the
growth of mucro organisms |
RiZ=19).1s, 2 2p", 35°3p", &8

In the ground state, the value of | can be

either zero or one. Hence the <er [d) of
quaniym numbers L, (0= 3 l=2m =+ 2]

cannot be possible in the ground state of the
atom.

MO configuration of O_ 15
0,48+ 8=18)= ol ¢ 155, g2t o 255,

alpl. =2piwnXnlp wnlp

a0

4]

42,

4.

46
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_10-6

2

Buird wrder = il

Ny - N
2

Stmilarly. bund arder of oxygen molecule inn
(03)=2.5

B urder of superoxide ion (O ) =15

Bond nrder of peroxide 1on (07 ) =1

Bond strengrh « Bond order
Hence, the order of bond strength 18 s
0; 0, »0; >03
Hybrid propellants contain solid fuel (acryin

ruhber: and hguid oxidiser (figud mirogen
tetranside, N0, 1

Boric auvid s uged in carom boards for
smooth gliding of pawns because H-bonding
in H,BO, gives it a layered structure

[CO(SOL HNH; )} JClwmss [Co[SO, JINH ), [
+ €l
[COCINH 15180, == [CoCI(NH, ). 1"
+304
These compleses give different jons when

subjectsd  to jomsation. So, they sxhibic
nisALon Somersm.

Zv and Hr possesses similar atcomie size and

hehce have almost sums  chemical
propeties, so they are <alled twink of
Pericdic Table. It i due to lanthamde
Lantracuon,

The IUPAC name of [ColNH,LONO® B
pentamminenitrite cobale (111 1on.
During hydraton of wons o
solution, there exsts an  atractive lome
between fons and warer molecules, which
are polar in nature and seis a8 dipale. 50
hydravnn of lons in asqguen sdludon & an
example of ion-dipale inter@mction

i g i
LTI e

Molesof X. niy = ‘—3 : '_i
3+2 5

2 z

Molesof ¥,y =e—— » =
3+1 B
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Pr=Palty = Prity
- 80x 3 - 60« 2
5 5

48 + 24 =72 Torr

Ihe elemems present in the earth’s core ane
collectivaly called siderophiles. These are
found m their natve state. These elements
enerally have 4 low reactivity and exhibje
i abfininy o form metallic bonds. eg. Pr
fu, Pd. 1r, Os ete.

Concemirated sulphurie acld, being a strong
ocil, oxidises bromides and fodides bur not
inlotides and fluorides since. the later are
more electronegotive, Hence, it can be
reduced by only NaBr among the given
FPLICnS

g =1 -0 -}
H.50, « NaBr — NaHS0, - HBr
. 2] 0 ]
2HBr + Hz80, —= 2H;0 + Br + SO.
Reduciion T
onic radii % ——

alf
!
¢ pegative charge « ———
N poxitive charge

Thus, the eorrect order of 1onic radii of these
lons is i
50 5K »Ca™
Spin only magnetic moment,
b=ynln=2) =424
- n®-2n-24=0
(n=6){n=2)=0
n=4
|- n=-&not possiblel
Here, n |5 the number of unpaired electrons
The elecuronic configuration of the metal ioh
M' s
7(28) = 1s%, 25, 2p% %, 3p®. 4°, 34
Stce, four unpared electrons are present,
th_' uuuimum LI.I]'I.E IMUEL 'ﬂli.‘ 3.
{25) = 15", 207, Zp™, 337, Bp oGt Wl
ESEREREN

ot el

51, InCO3F, € is present in its highest oxidation
state, Le, +4 starte; so its further oxidation 5
not possible, it only undergoes reduction.

Acidified KMnO, is & strong oxidicing agent.
hut it cannot oxidise CO3". Hence, 1t will not

be decolourised by COY

52. Since, As,5; 15 @ nezotively charged eol, the
ton bearing the highest positive charge, s
more effective for s coagulation. Al
his the highea positive charge, fe¢, +3, s
it & more effective for the coagulaton of
As-Sq sul,

Lassmigne’s test is given by those nitrogenous

compounds in which carbon is alsg present

alongwith nitrogen,

In NH, NH; HCl carbon is absent, su u

does not give Lassmigne's test,

54. 5.1 mechanism involves formation of
carbocatlun intermediate, Hence, the species
which gives the most srable ecarbocation
readily undergoes 5.1 mechanism. p-buryl
bromide gives the most sable carbocavion,
i.e.. 3 carbocation, o it readily undergous

33,

%, 1 veaction
%4:0 ‘BDH 2
55. 1 Hﬂﬁ OH —» HOHC CHO
at
CH-OH
g

Ll-l

= Hn. <‘> — “ + R-foirm

CHRISTIAN MEDICAL
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‘._,l \
LG "] e
A0 - v .
I G——H — CH, Cl L
t"?-r *H “ /
Ch CE H '
h . rd
2 N f\.':l,- 111
I
- %!t, ‘-;“J q'}tl
IF* \'"; T | T
T --I":}!L'— OH —= CHy(Hy 1_1 i
TCHLCH H |
i o) m
|f_ '_ %
(el N Es
LT MmN S
> | @
H
.;l

56,

8

Hence, strectures &, | and [ are & lsomers

Biology

u,

Catbonylic acide when rromed with either
dibwirane o LAH, got seduced @ primae,
Plates confirmed 0 cvnain Jucalitied e

culled endemic plants, ez, Ginkgo biloba o
Concus senvns. Most of the Indian Himalnyan
flova are  endemic
geweraphical barners
Cipsule or endospares of hucrerin ae highly
resistant 1o hear und pratect bactern dunng
exreme  condinans,  In boiling  warer
L | Il'-li." 'IIFIL-IJ"C"! RUEEVINVE altt vhen wWaker
cooled: they produce veuviauve dells tu grow
und multph

Nt b @ fllamentous Bluc-grecn nigse oo
prokanvany el

- Motwite goeurs in the imoospoie mother

velle within anthe: of angispeims

. Pincapple belnngs to the tamy -Bromelacens

Cxtosol contans crganelles ke chlorapiass
and mitchondria having U

< Spine formation accdrs in Gpuafer and othes

et o sedUge STRmApIrRien
Crariic s ST

vopuratis elv. Whateas anion

e ol bices
(A

in  natre  gue o

57.

38.

59.
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alcohels, Dibarane is o berter tenent chan
LAH tor such enmversion. o o doers mat affico
other runctonal groups such as ester. (urto
halo arc
R COOH - B,H, —
"o

» R—CH00

Cinnabar (HgS) s a sulphade ore, henge o 1
voncemrated by froth floatadon process,
Nu(ll), 16", 27 2p", 38!

It i& = oalkall metal. Alkali mesal wides o
basic i noture.

NRGL conuuns  onas covalenn i
coordimate linkage

H

*

|
H—N—H

. H

Te tins —*CF: ""'-CF‘!};'
noly )

REET TTY TR ) BT R

Gall fenvers are neucr and they are used o
food for gall wasps which are specilh
pollinatore of hypanthodium inflorescence
Qureoent centre i Tormed by @ group u
mactive meristemarie. cells which devely,
hehfind the root rp. They have: low DNA
RNA and ribosome contents.

Stumats are evenly  disiibuted on Dboid
upper and  Jower  epidermal leyers
pubdlaerdl  leoves.  Elchbiorma  orasspe
witer  leeinthl e free-floatng hydraphyie
producing 1sobiiatersl leaves having siomat.
distnibaied on both upper-and lower surfuce:
evenly  Floating leaved hydropk hawr
romuta an upper epidermis only.

otk celle are dead cells ‘os they fack
protopiasm which is regavded ae nhysice
1 These cells have only sulerized
cell wull which is impermeable for gises
salutes und solvenis.

In gyvmnosperms, leaves are withou i
and veniers in most of the opex Thiv
Feve F Fransiusun st fﬁf !'I'.u'|": T

(NE LTI 11L&
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1s.

15.

16.

17.

18

19.

20,

211

b

23,

of sap m rhe region of wing and thus,
absence of veinlew is compensated.

Alcohol treaoment causes loss of selective
permeability of membrane and hence there
will be no change when this alcohol treated
cell will be placed in hypertonic solution of
sucrase

Blant ash contains only inorganic substances
or minerals,

Members of Chlorophyceae class (green
algae) of algae will have some pigments as
these of grasses and trees, i, chlorophyll-a,
chloraphyll-b and carotenoids,

Synthesis of ATP in mitochondra oocurs in
presence of O,

d-nucieare or 7-celled morture embryo sac s
produced in Polygonum type monosporic
embryo sac, Allium type bisporic embryo sac
and Adosa or Drusa type temrasporic embryo
SACK,

Fruit formation i relared with stimulus of
pollination but seed formation is related
with stimulus of fertilization

[AA is the hormone involved o phororropism
according to Cholodny-Went theory.

In mangrove forests, vivipan causes dense
aggregation of seedlings in closed viciniry of
mother planis. It causes high intraspecific
competition and results in heavy seedling
martality

Hydrophytes: do not produce mechancal
ussues  and vasciular strands in large
guantty, © mainmin efastcity. Even the
perennial forms are alio  incapable of
showing secondary growth,

V1 is determined by toking the ol sum of
relotive  frequency, relative density and
relative dominance.

. About 749 of the canth's surface is covered

by oceans and fresh water where algae grow
in dominant primary producers. Dintom and
dinoflagellares are the major primary
producers on earth.

Partheitium is a4 most noxious rerresmmal
weed all over the warld, I15 seeds are very
tny and wind dispersed. It i3 commonly
called congress grass or carrot grass. It
competes with crop plant for spuce, water

26.

27.

9.

30,

3l

3z

33,

34,

A5.

and nutrients and so should be irradicared
properly before sowing the crop,

Early blight disease i coused by a
saprophyte (a fungus) Alrernaric solani in
porato,

Bivenergy does not pollute environment
much. It s ecoimendly and can be used

better than conventional sources of energy
available roday,

Axemc culture means pure culture free from
all types of microbial contaminations

Nitrogen fixing genes (Nif-gene) represent a
cluster of 17 genes and found in the cells of
nitrogen fixing bacteria,

Chimern are developed by addition of
foreign gene into plasmid DNA 1o construct
recombinant DNA.

The functional unit of liver is called Inbule
The thin layer of connective tissue separating
the obules is Glisson's capsule.

Paneth cells play imporrant role in
regulating the normal bacreriol Aora of small
intestne,

Closed mype circulation represent single
circulation. which means that bath the
oxvgenated and the deoxygenated blood
enters the heart and ger mixed in ventricles.

Anura is characterized by the absence of tail,
nlso known as Salientia. the leaping animals.

Vibrissae, commonly called ‘whiskers' are
sensory hairs thar provide a tacrile sense to
many mammals,

Kwashiorkor can be prevented by
protein rich food. It is characterized by
edema and facy fiver.

Biocatalyst refers 1o enzymes eg, erepsin,
amylase, rennin.

Hirds have non-distensible lungs contnuous
with thin walled air sacs,

The yellow colour of urine is due 10
urochrome, a pigment derived from the
destruction of haemoglobin by
reticulo-endothelial cells.

Cones are photoreceptor cells in the retina of
eve that cnables a person to visualize
colours.
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Sella turciea 15 8 rransverse depressive on
the superior surtace of sphonoid sope
lndging the pituitary gland

Glucagon does not stimulate glvcogenivsis
in muscle It does not stmulate the lives w
make  glucase  from  amino iende
(gluconeagenesis] and increases lipolvas iy
adipose tissue

some complemean: proteitts imitiate n series
of reactions that forms holes in the plasma
mecmbrane

Heroin 15 an opieid  mest of them
hallucinogens which have strung effect on
cerebrum and sense orgons

The  chromatid bodies. mode af

ribonucleapraotein. are found wn the warly
stages af cvsts,

are

Enteron is the gut or alimentary canal
enclosed within the endoderm

Huemoglobin dissolved in plasma can he
termed as intercellula:

Wings are present anly i adult housefly bur
ulment in the larva

Carmine 15 produced from female cochineal
msect after treatmen: wizh alom; i was
introduced by Goppen and Cohn in 1844

51

52,

53,

55.

56

s7.

54,
60, Mammals
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Creatinine found In muscles Is syirhesized
tram three amino acids viz; glveine, arginine
snd methionine.

Casein, the principal albuminous  oulk
phusphouprotein, 18 found o+ calaem salt
abtained by curdling

Both huemophilin and colour Wlindness are
sex linked disease

The amino aads Ore urgunic monomers
Which are synthesized by Miller-Urey
experiment,

Wings of birds and insects are anaslogous
organs,

Nictitating membiane of man 18 a vestigial
organ. [v i known as plica semilunarns in
man.

Human and chimpanzee DNA differs in ool
1.27% of their sucleotide sequence

Dugs  afe  dinecious, s0  cannst be
self-ferrilized.

There are two types of vision i o
mosaic visiun or apposition image during
day time and superposituon or dull imuge in
dim light

Willago 15 4 vatlish withour sualis

evolved from repries i
Thassic penod of the Mesozon era

Lh#



